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Note:. [1) AII que5tions are compul5ory'

{2) All questions carry equal marks

(3) Figures to the right indicates full marks'

MARKSI 100

Q1A) Select the best ansu,er' llom the given optlons and rer.vi'ite the statemellt (Any Ten)

(co2. co3.IJ, R, AP. AN) (10M)

1) The law of demantl is illusr'l'ated by a den.rand cun'e that is 
---

a) Horizontai c) UPrvard sloPing

b) V*tical d) Downward sloPing

2) When marginal values are ie ss than average values -_=-
a) Avcrage *'ill rise c) Average will be 1

b)Averagewilllalld)AveragewillrernainConstant
3) The income eft-ect of a price changc is 

--. 
-a) alr'vays positive c) may be positive or llegalive

b) allvays negative d) causcd by changos in consumer taste

4) ,, 

- 

method is r-rsed to bridgc the opirrions givcn h1' different expeds

a) Delphi c) SamPle suleY

b) I reml Analysis d) Expert opinion'

5) A kirked iso-quant indicates

a) linited substitutabilit)' of tactors c\ zero substitutabiliqv of l'actors

b) conrinuous substitutatrility offactors d) perfect substitutabilily offactors

6) In the shorl run, increasing marginal reiums take place due to 

--
a)variabilityofalifactorsc)abundanceofvariablefactors
b) abundance of tixed fact d) economic ofscale

7) kI the short nm, a firm's fixed cost-..==-
a) is zero

b) u'ill always have to be incured

c) can bc zero ifProduction is zero

d) wiil decline with every increase in output'

8) The slope otr the total cost ourves equals _-
a) average variable cost c) average cost

b) marginnl cost d) margi:ral physical products

9) At the shut rlown point, price is equal to avcrage 

-- 
cost'

a) lrxed b) variahle c) above d) below'

10) price elasticity at a given price is not aff'ected by -
-, ^-...;l^L;l;n, ^f -.'l-.r;t"lacal avalldllllrL-\ ur rLrurtrru.er

b) nature nicorrunodity

c) a change in suPPlY

d) proportion of consunters' incorne spenl on the commodity
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QlB) State ruhether the foltowing statements are true or false (any l0)
(c02, c03,4,U,AP.AN)

1) When there is shorta-ce in thc market, price ha-s a tendenc5' to rise.

2) An exogenous varial]le is within an econotnic model.

3) Passive forecasts take into accotint future change.

4i Income elasticity of demand fbr all normal goods is a bc negative

5) An isoquant has a ncgative sloPe

6) The law of variable proportions erplains retum to all t-actors olproduction

7) Marginal cost and incremental cost are conceptuall-v the same.

8) An increase in price will deorease the break even point

9) MC is inde pendent of l..txed cost

I 0) The expcrt opinion method generates accurate demand lorecast

I l) The most important determinate of price e lasticit-v is the price of other goods

12) Il case of deuease in sqpply, demand being the same. the price will fa11.

1 1 ) ='- revenlie is total salc r-rf ';crtain amount of conln'rr:di!' at a glvcn tinre

al 'Iotal ci incrementai
ci) Averagebt mrlginal

l2i Negatile Lnarginal

a)

c)

d) Relative scarcitl'

A) factors affectirig price elasticit-v of demand (co2,u,R" ANAP)
(co2,u,R,cKE)B) What are different types of demand forecasting

A) Explainthe (co2,u,&AN,AP) (8M)

B) What are the of measuring elasticity of demand?(CO2-U,R,AP,C,EX7M)
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Q2) Attempt A aud B OR C and I)
Ai Explain the scope of Business economics

B) Given the following data calculate T& AR and

(a)TR andMR. ft)ARandMR

state lhe main determinants of dcmand (coz-u,AP,R,AI0(7M)

Individual and market supply ivith schedule and diagram (CO2.U,&C.AP) (8M)

Q3) AandBORCandD (lsM)
(8M)
(7M)

6 7Output (IJnit) t12 3

20 20 l20 20Price

I

co2-u. (8M)
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Q4) AttemPt AandBORCandI)
A) \\Ihat aLc the dittelent tvPes

B) Whaf are the Ciileretlt types

C) lixPlain fti1lY the extcmal

D) lhe follorving table -shows lctal

cornbination rvith a of

i. Calculate average

ii, ki which stage will a rational

Q5) AttemPt AandBORCand D

A) ExPlain the dift-erent t1.Pes ol

B) Given TFC as {145. calculate

below

( 15)t)

(cto:-AN. E) (8M)

(co2-.{P E} (711)

of scale (CO2.R.u.AP R) i8l\I)

a firm due to inct'ease in labour input uscd in

(co2-R, i.r,AP.R) (7rY-)

Justil.v Your answer'

(lsM)
(81\{)

MC tiom the information given

, AP, CR) (?M)

(co2-AP,R)
(co2"AP,CR E)

OR

C) What is break-even point? How is break-even determinecl?

,i U*r,o* *t retationship betrveen AC'AFC' AVC and MC

Q6) Attempt A and B or write short notes on any four
*'^;il;ilnutott 

of d"*"u'rd curve under dllTerent markel

f i U*ptuin tf," importance of demand forecasting

OR

Write short notes on any four of the following

l\ Dif[erentpropertiesoliso-quant'

,,1 Explain markel demand with schedulc

ilD Importance of demand tbrecasttng

il; Kinds of internal diseconomies of scale'

"i 
Types of price elasticity of demand

VI) Assumptions of break- even point'

**+*<************

(8M)
(7M)

(201\r)

(co2, R,LI,API (10M)

(c02-AN,AP,R) (10NI)

(co2, U, R- CR,AP,E) (20M)

**+***'t*****
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(co2,CR,E)

T,C, ATC,AT/C, Al-C and

J
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